TREE ADDING PUZZLE 3 ﬁ

e Each number is the total of the two numbers below it.

e Find a solution for each of the trees below! There are many
possibilities!

e The first tree has been completed for you.

Example e
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TREE ADDING PUZZLE 3 ANSWERS ﬁ\

e Each number is the total of the two numbers below it.

e Find a solution for each of the trees below! There are many
possibilities!

e The first tree has been completed for you.

The numbers

Example / a and b must

add up to 5.

The numbers The numbers

c and d must e and f must

add up to 6. add up to 11.
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